



नाम: _____

दिनांक: _____ स्कोर: _____

$$\left(-\frac{3}{4}\right)^2 + \frac{1}{3} =$$

$$\left(-\frac{1}{2}\right) - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{3}{4}\right)^2 + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{3}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{2}\right) - \frac{1}{6} =$$

$$\left(\frac{3}{4}\right)^3 + \frac{1}{4} =$$

$$\left(-\frac{1}{2}\right) + \frac{3}{5} =$$

$$\left(-\frac{1}{5}\right)^0 + \frac{1}{2} =$$

$$\left(\frac{3}{5}\right)^3 - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{3}{4}\right)^2 + \frac{1}{3} =$$

$$\left(-\frac{1}{4}\right)^0 + \frac{3}{5} =$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{2}\right)^0 + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{3}{4}\right)^3 - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{2}{5}\right)^0 - \frac{1}{6} =$$

$$\left(\frac{1}{5}\right) + \frac{2}{5} =$$

$$\left(-\frac{1}{4}\right)^3 + \frac{2}{5} =$$

$$\left(-\frac{1}{4}\right)^3 + \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^0 + \frac{1}{3} =$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{1}{6}\right) =$$



नाम: _____

दिनांक: _____ स्कोर: _____

$$\left(-\frac{3}{4}\right)^2 + \frac{1}{3} = \frac{43}{48}$$

$$\left(-\frac{1}{2}\right) - \left(-\frac{3}{5}\right) = \frac{1}{10}$$

$$\left(-\frac{3}{4}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{3}{80}\right)$$

$$\left(-\frac{1}{3}\right) + \left(-\frac{1}{2}\right) = \left(-\frac{5}{6}\right)$$

$$\left(-\frac{1}{2}\right) - \frac{1}{6} = \left(-\frac{2}{3}\right)$$

$$\left(\frac{3}{4}\right)^3 + \frac{1}{4} = \frac{43}{64}$$

$$\left(-\frac{1}{2}\right) + \frac{3}{5} = \frac{1}{10}$$

$$\left(-\frac{1}{5}\right)^0 + \frac{1}{2} = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(\frac{3}{5}\right)^3 - \left(-\frac{3}{5}\right) = \frac{102}{125}$$

$$\left(\frac{3}{4}\right)^2 + \frac{1}{3} = \frac{43}{48}$$

$$\left(-\frac{1}{4}\right)^0 + \frac{3}{5} = \frac{8}{5} = 1\frac{3}{5}$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{3}{4}\right) = \left(-\frac{7}{8}\right)$$

$$\left(\frac{1}{2}\right)^0 + \left(-\frac{1}{6}\right) = \frac{5}{6}$$

$$\left(-\frac{3}{4}\right)^3 - \left(-\frac{1}{6}\right) = \left(-\frac{49}{192}\right)$$

$$\left(-\frac{2}{5}\right)^0 - \frac{1}{6} = \frac{5}{6}$$

$$\left(\frac{1}{5}\right) + \frac{2}{5} = \frac{3}{5}$$

$$\left(-\frac{1}{4}\right)^3 + \frac{2}{5} = \frac{123}{320}$$

$$\left(-\frac{1}{4}\right)^3 + \frac{1}{2} = \frac{31}{64}$$

$$\left(-\frac{1}{2}\right)^0 + \frac{1}{3} = \frac{4}{3} = 1\frac{1}{3}$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{1}{6}\right) = \left(-\frac{5}{36}\right)$$